RV

z
z

v
w

DIALNICNA

s

<
=z
(=]
o
14
<
Z

ZAHRADA

NEP.PODA-NEP.PODAq /18
bsi RorA |'[vai]
| HUBOVA

0OC.CESTAS

ROLA

PC ZAHRADAS

PASTVINA

Svosov

POTOK, PC— basrna PCq [PC
LES

| wka [[T]

LES

LCq

LES

LCq

LES

rLe €. Leq
LOKA LES I tes |

r III/01898|r ISR

Loka| vaH [T Loka ]

[ /18

LES

LC 1
STANKOVANY

LES

PC
| Loka

[ PASTVINA [ PASTVINA LC 4
LES I es

PCq
LES

Lok [loxd

PC
LOKA['

- 2irbion
]

LOKA

ROLA

LESY

LOKA

KRALOVANY

[LCESTAZSR,I/18

[ LCESTA

[ LCESTA

[P.CESTA
LESY

sy ]

P.CESTA

NEPLODNA PODA | |

[P.CESTA

POTOK

lioka [[m/dises  Loka

{PC

ROLA

RoIA | k]

NEPLODNA PODA

SaTovo

MK

LOKA

RATKOVO

rNEPLODNA PODA

TURANY

LOKA

pord] [ ]

POTOK [ z4RADA

DRUH POVRCHU UZEMIA
KATASTRALNE UZEMIE

OKRES

MARTIN

@ ! 1= o 7 )
@) m © LN
Z E 4 _ g >
o T -
o e OMERCE || g |3
- & o | 8 |
m o m SE=7 o | g
» e IS
ey 2 =2 3 <
© S
R ) .m = S
) o w m
W S = o
M/
LN
2y =
ES ) =
= —
EE S B
= S -
= == ez
S ~ | =
N >
)
= N N
= M VM
a N
,m S
I X < D
W 73 W U N
& m m 8 = Y [~
e [BE| «
5988 4 I 2
g = |2
z2l = =
S L =
= A
2 m s ©
w
ol 5| =) 3
e =
S 3 =2
a << M
< SE° e
2>52|E < 3
m 52 W = M 5 o
HIE =S &
o (O] R
sglegig=s 8
1= Y,
o _ YAOINH-ANVINL 1@ FOINIVIA NMISN OJINOM G/T GLG'CL WM
m 2 8P 8¢SLSE ) o 0L79%% — 085y —  €°6L8 82°SLS
DN S 4 82095°€ | 8
Do = 6797 — 1575 ——&) W)
— = M 8y L9y
o + 68797 —  LL05y —§  000%
R b / 58995
e)
T g YAOBNH LSOW 9079y —  /¥'Z5y —§ 000§
m ~ ¢l piargao ¥S |Z0T38d =M9 NA
% 00 VS JZ0134d
=0 LY JOVAOOdS 137 6609y — svssh — o002
=
= Dy VS JZ073¥d —NN VS 170734d G8'991
num W 738y1 JONVHO XT
a3 0/'89% —  G£'09% —§ 000l
o
< 5 :
3 S 8/500°C1
. S . .
-cgog 000077 N By — 155 —g Q S sgogs
© —
g - 1 86426
8 S eLGy —  $60h ——f 0006
h—”h’ \
| .
001001 B m Oceesel 606Lh — 106 —] 0008
N :
= 86'v¥L
ga VS JZ0134d ~M0ZZ N oczer — 918y —— 000z
o> \\ 65787 —  98'96y —§ 0009
oogs 1z
IS (o)) :
g2 m = 91'98y — 14106 ——&) WD e
< T 195052~ o3 p%
2 a -
N [ ? 91°GZy
== £0'/8y — 00025 ——§  000%
gl'/ey — 08125 ——§ 0008
19987 —  05'5s6 —§ 0002 .
1082121 greLy
GG'G8y — 00055 ——§ 0001
1998y —  OL'SLG ——&) @ 1°G66
*\ N
o
eccey —  zz s — 0006 o= 10816
1078y — 07595 ——4 0008
£TI8y — 05786 ——4  000L
cl'osy — 0025 ——§ 0009 18l
LOBLY —  LEHHG ——&) D)
-
-
66'Lly — 00586 —§  0°00%
_— z
x 169y — 05789 ——4 000§
<C
/ <
m £8'G/y — 05789 ——§ 000z
/ =
T
/ SLvly— 8L'seL——f 000l
L9y — 0619 —&)
/ -
-
657y — 02058 ——§ 0006 9
=
/ :
61y — S8 ——4 0008 i
/ d
S— eroy — osLie——4  oooL
W—W /
2 Ge69y —  GL'L9L——F 0009
o S
= /
—=— & [T89% — 0590, —& W)
g s / =
= = -
=— 3 61L97 — €689 —§  000%
=
w
I
oL = L1199y — 2809 ——4 000§
= 2
Y =l /
o— & £0'69y —  ¥4'859 — 4 0007
.-
< w . . A 95'/21
— w38 G6'¢9% — Gz8lo—§ 000l
—__§ ¢ /
[a'd
L
= —
i s 1979 — 006/ —&
5 2 m/ S .
o gl = S
= > 3 619y — cLs¥s——§ 0006 k
o E %/ n
(o] o mvd
X o 3 109y — 85TIs——4 0008 o1,
o] (o]
[ —
o 2 00°€T - . . ) S
S 2 - £96Gy — €09y —§  000L 3
2 _ e ¥S [Z0T3ud =
~] ) h T IOVMOTOdS 7 oo ggipey 0’00 €029
2 3 Se . _ VS |7073¥d
e o S - VS JZ07134d -M9 NA XC =cC . NCC ._E_o ay1A0
= S e - . . o)
> < = LyiSr— 1568 —o 3
- ]
2 g2 ANVAOYINYLS LSOW 5
[72] o wn
= SS=Z ¢he bisreo 6095y —  1e9cy —§  000% "
> m = —
2
£ vs J7073ud L€'SSY —  60'Lcy ——]  0°00€
2 738y T3L AOMVID ¥£'0LZ
VS |Z0734d
00°0¢ - YN+T38YM ANNO43T3L w JI1d0_ ) .
VS @ CCYSY — LSy —— 0°00C
Gl'eSy —  Ge'Z0s——§ 000l o
4]
1)
L07G) — 0056 — -
o
6600 — 1095 —— o005 7T 08
/ 16677 —  88'7/S—§ 0008
/ £8'87y — cl'ses—§  000L
SLlvy —  Grses——§ 0009
>
(@)
/ < . . T} =
3 L9977 — 06209 —— 3 b
[=2]
o u
= 6G'Gry — G689 —§  000%
/ P
ISPry — 08709 —4 000§ S
/ N
Il
(2
~_ / eyevy — 05585 ——§ 000z
/ GC'T¥y — 00855 —§  000L
. . o
[Ty —  SLU1Zs——
[
0T'SY6
61077 — 1986y —§ 0006
// / 2
E . . . W
3 . LI'6Sy —  /8'¢8y —4 0008 4
5 VAYISO-NN EX o [ o0zsaL
= =
=) c0'8cy — 8¢z ——  000L <
= a ) v64L9
mw 56'95% cossy — 0009
=0 05665'L - 3
£3 n
&7 o 7198y —  Sh8vh —¢ n V6V6Y
o] .
S H ooey S35 968v7 L
2 o . . . .
%= L ooes 5 o7 /~| 6L'SEY vicey —4 0007
o —
~o i s6'eey —  £67er —§ 0008
S8 T¥867'L
=g
&> . . .
8- gerocy —  99'ley —§ 0002
Gag
o[ %
€S 00 . : A
ZRJH 1895y —  19ecy —4 0001 o
29k o09s “ :
.= NOIS30 NONJOd QYN 000°L WY A LG WN ISON = 3
g2 00-L1Z biIrgo 2 VS JZ0134d ~NA CTISh — Bl — B o
L 0959 MK N r~
= N
R 99'/5y — TLlsy —§ 0006 o
S 2
00-£0L Y380 ANVAOTVHM YMLVAOZIMM - — &
ANVAOTVEN AALYAOZINM 8% NOALIA GYN 1Q WN LSON 2 == 6085y —  ¢S0sy —§ 0008
00-0L¢ 1X3rdo S “ VS JZ0T34d—0SING 17 QOAOQOA
W VS JZ073dd -NAXZ | E=X
Z lg'ecy —  £50cy ——4 000,
> 00-€0L 13PE0 ANVAOTVAN VMLYAOZIMM !
& ANVAOTVAM ANLVAOZIYN ¥, NOALIA GYN L0 YN LSOW —
m =5 00-60Z LY3rdo — L eEeh . z0ch 0009
0007 s 24 9L 0¥G
= £ €000z
> < °% 02G'9-SZH'9 WY A 10 VN LSO A ¥Zrzs'9 | e— — OVBSY —  SGHEr —
o 43 =hA 0£-80Z 1¥3rd0 ,,, L/ S VS 70134d ©
A g Lo L /27138y AL AKOMVI 3
> o8 =001 ﬂ VLLTY9 e — 9507y — SL6ey —4 0007 I o066
So 79 2 £24'9-982'9 WY A VAYWVISIOId o @ =) “ VS 1z0134d
=3 o= & LOPvISId 83 2y = 13apr “TIL MOMIVIO 3
,wn_u. i o7 88 e g ¥Z61£9 . — 1Tt — /66y —f 0008 W
o) b= . — = ¥
. £3 % 2 0009 T IR !
0007 T < z32 a7 . . A 9L°0T
=] =N = — 6L'Gh —  vl'eey ——f 0007
T=1  ooead 9 N 9zL61'9 13
& 0069 o3 N3 ~
[sX=] f f o ~N
£ K= 891°9—-/¥09 NX A VAYMVISIONOd S «© = — Bl'/Yr — S8y —— 0001
3 Is 0s-L02 D3re0 S X I 00009
[w] N . o
= c 0009 .ﬂ n_v_J v__| = o
s & 891'9-¥88'S WY A 10 WN ISON o 3 . . o 3
N 8 oc-goz biardo 5 212009 —orgr — 29— 3
a — Z
g S 3 3
3 o “ “ 3 — L%y — vl ——f 0006 N
o S GG6'G-SZL'S WX A VayM¥LS3010d = 2
% m 0¢—£0Z 1M3rdo W 9/0G8'S
o 2 o 4 Q — 106 —  8L9ry —4 0008
o
3| g SR 16992
Q (=] .
4 D < —GT0sy — SLzvy ——  000L 8LoLL
a o 82L'G—-66%'S WX A 1@ YN LSON o= N £0£89°S -
> g 0L-80Z Ly3rdo ~3 . . . 2
< < 2 — IS — 607 —f 0009 T,
g sl 4 ™ . .
o B = i €19/GS 97095
a
= S= oce = eI — Uty — &\
5 & =3 . , o ™~ S Te}
3 B S 66Y'5-91€'S MY A VayWISIOIDd S 2 © | Q
I < 5 01-£07 DiIrdo & R =2 N . . ) o
El = o e~ o — 607G — SSLy—4 0007 J
gl 2 9 TS [SL6E°S N\
o 3 Q o
o .
T = T » — ¥ —  TT0sy —4 0008 3 oL oce
| & S 3 W
00'GY L
s . . .
osd I 0061Z'S — BB — S8SHy —4 0002
00°06 2 | 3 9L°0LL
= 9 . . . -
2= =) — 7899 — LUsth——F 000l S
> atooss = i
z = M._, 1l
S5 Q ) ) o o=
So ,_M/ | — G — Sl — = 62'166
8w e LIELEY |
0006 - 3 m - K : — 0l'Zhy — oL'8zy —f 0006 3
3 S® o | L 67148
w o o UJJ. - . o . 1 . o
© =7 <| F— 8L 0% 9512y 0008 3
o \ M I L
: <
@ LeBuLY W __| — ol — so8zy —f  000L 67169
|
— — Gl —  geocy —4 0009
8
d £¥50S Y | . . 7o) Q
— B9y — /897y —¢ R o
\ < &
o=
_.,| 601Gy —  £6Sy —§  000%
_”l.|.
M_ SYs
vulvd YIVW LSOW GGGy —  9p'Szy —§ 0008
00-90Z 1X3rdo 3
. 5
PR 1209y —  ¥rver —— 0002 o sl
VAY1SO -)a VAYLSO —MO¥3GN0ZNY-VNINIZ 1A R7u
VWIS TIE NA_ — 1999 — 68’1l —— 000! -
VS [Z0T3dd -NA VAYLSO ~T38YM “TAL A¥OLLdO “) orsy
o = 7069y —  08'2r ——0 2 3
= < i
[ M —
== 6S'TLY ¢L0Gy 0006 :
/ - > 50028 02’868
= S 170734d —NM m &
S mp elely — Goesh —§ 0008
g toose
TR
g~ 89'9/y — /G99 —§  000L S
© . = ©
S 06 7 = 3
> g =3 Ul — 6 :
sc'e i A bnaoa S 2 m s &3 Ly 67 7Ly 0009
& 00-Glz i 2 ¥ < =5
oy &w . . 0 85'Z1S
> a Mt = Loty —  wesr ——a 13 2
=1 s <
= m . / | (]
= - 00708 \ od 8
3 ide ooy — 1gggy— 000y i,
ox M D M) o
=% opl 85295
S4 =
s o 0001 - 987y — 2699 ——  000g
Lo 53 c
00°081 NS =S
NX
z3 3 e 17697 — ol'lek —— 000z
E Sv <[, YdIzve INSNVIAOIVEN LSON 2)
=3 S 00-50Z 13rdo &)
jrw} o o Q0 . = . . .
oo e s = S A 62L21'e z1coy — 005y —— ool S
<C ~ o =2 0
= . H—2 = i~ W %) M
&g 00’ lgdN X 3 D, o K
=3 |3 = 0619 — Y659 — 2 -
> W pA VS JZ0T34d [p) S
S8 a| L o 3 VAYLSO ~NNXZ =138y AM0lLO 2
& 8 m K= m 6211627 ¥S 17000 909y —  Shevr —— 0006 o=
o © o8 “Q3A "SNAZA “ANY¥dOavIS
I8 3|z oouwww_mv_%mw a = ¥S 70T34d ~NN 507N 21 Q0AG00N
QY ¥S |Z0T13dd —"@3A "SNAZA "ANdd0avIS 2%'09% — G/ 8%y — | 0°008
| __¥S |Z07T34d —"Q3A "$NAZA "A0HOBVTS fMle=z VS 1Z0T3d —NA )
. ~ ] VS |Z0734d —00L NA OAd QOAOQOA __. . . i
00700 - o o008 % 2I002 - 9779y — S6L9r —  oooz 98,969
< ~ VS JZ0134d —1IS NA1d J_J
&4 5 -
000097 5 N 957197 VS |Z0TR -T3YM MO0 ———  9/'9% —  88'89y — 4 0009
MW %w VS |Z0T134d-uN VS Z0T3¥d ~00L NG OAd GOAOGOA )
x> _ =}
M m VS |Z073¥8d —1S 138y% AMOILJO 0999y — STV % D._I_m
5
N N . . A
o8 N IG'L9% —  Orydy —4  000%
49 S & 5
B2 S o & 86£C°T
m X = : / 1oy . .
00ce- = _n_/_/_ T VS 70T -\ / 68°L9Y 191y —4 0008
E o — vS JZ0T3dd —NA
I o 8 \ . . A
-3 \ 9299y — €55/ —§ 000z
oo 25
b=
<S =3 yly9y — ol'ssy ——f 0001
o5 =)
== W 82L90°C ¥S RO
m mm 2 il VL9 —  1TEey ——¢ N
> gl OAOLDS LSOW e -
3 oo-nou\mcm_.mo A 7£996'L \ﬂ\% JZ0734d ~138Y) ANNO4ITAL ANLSTIN
=0 ors s} . . .
.o |32 S, 99'85y —  /8Gcy —§ 0006
28 | 5= VS J70T3ud
. m 4, 1 vaM_. 138YX ANNQ43TIL ANLSIIA
00s 4 N c9s5h — zissh—f o008
o8 o N/
T Sw = 08z/L') /N
L= © 2 %
S TR i 0c'85y —  8¢¥sy —§  0'00L
0008 00°GH &= =
4 vS 1f0134d 7909 — 0695y —  0'009
- 738Y4 ANNQ43TIL ANLS3IN
876/5'L \
>
S 60797 — 68597 — 2
n@v -
N2
N \\I VS JZ0734d —00L NOQ OAd QOAOQOA
N 66197 — 1919 ——  ooop
(o))
o/n
S . . .
~ 601y — €989 —— 0008
Y96LT1
. 0y — s1gsr —— ooz
0S1L WY A WONOQINOMOIE Y ©— S [Z0T3d ~NATd IS
NOLSI0 NONJOd QYN L0 YN LSOW
20Z 13rgo . . .
299y — 169y —— 000l
W. - 0008
>
T 08y — 1778 — & 9D
3 ! -
: / o
= ~
= 2 7 / £e8/y —  /§G8y —§ 0006 o
m o 00 o]
2 S 0 hll BV o
° S8 905¥8°0 A\ . . ‘ 2
= TR \ crey — y8c8y —§ 0008 ]
] N > VS JZ07134d —-NM ¥
< o= = &
<C
& . 189y —  Gl'leh—4 000,
= \
=z
2 \ 67y — LS ——4 0009
E \ — VS |707134d —138YX ANNQ43T3L AMOILHO
8 oLy —  8LGIY —¢ %
o % 6L'95Y
o Anuv\ 6v017°0 VS J0T8d -\ v L9y — T8G9y — 0°00%
a <z o
> (wa ﬂ
2 ) 20€9% — 1019y — S| o00s 7 erosz
N - 182620 | 3
= 2 o
= - 9,85y — ¢85y — | 000z
3 i 2
<
= ANVINL NOXLYAOZIYM VZ 1 WN LSOW g @ D - 6L'851
/m m 10 DIArgo % w R44. by 2921170 CRYGy — G6'CYy MUU. kW 000l w
=z = 1=u - 9 A S =
= 2 o E > g Y o I
N a L o000 550050 VOIS — 0TSy p= o=
YAOGNH-ANVYNL 13 JDINIVIQ NMISO MOLVIQYZ 00 000'0 WM
% s
] 3 &
= I Ll
2 m = < 3
= = o a
Wl [rw) L M Ll
S = = SE ¢
e S 5 g gz ¢
[ =
>4 %) ~ ~ N On wn



